Math 220
4.2a: The Null and Column Space
Questions for flipped class
Important terms

Null Space of a matrix (aka, The Kernel of a Linear Transformation)




Column Space of a matrix (aka, The Range of a Linear Transformation)



(4.2.1) 
Find an explicit description of Nul A by listing vectors that span the null space.
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For everyone: Null Space

(4.2.2) 
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(4.2.3)
Find an explicit description of Nul A by listing vectors that span the null space.
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T/F: Null Space

(4.2.4)
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(4.2.5)  
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(review of 4.1: 4.2.5)  
Either use an appropriate theorem to show that the given set, W, is a vector space, or find a specific example to the contrary.
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(review of 4.1: 4.2.6)
Either use an appropriate theorem to show that the given set, W, is a vector space, or find a specific example to the contrary.
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(4.2.1 solution)
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 (4.2.2 solution)
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(4.2.3 solution)
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(4.2.4 solution)
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(4.2.5 solution)
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(review of 4.1: 4.2.5 solution)
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(review of 4.1: 4.2.6 solution)
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Any quadratic polynomial q for which q(0) =0 will be in the kemel of T. The polyn
be q=ar+ b*. Thus the polynomials (=1 and py()=1” span the kemel of 7.1
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7. W is not a subspace of R? because the zero vector (0,0, 0)
isnotin W.
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9. W is a subspace of R*, by Theorem 2, because W is the set
of solutions of the homogeneous system
a-2b-dc =0
2a —c-3d=0
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1. Determine if w = [
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44. Define a linear transformation 7 :P, —R? by

T(p) = [::g;]. Find polynomials p, and p, in P, that

span the kernel of T', and describe the range of 7.




